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1. (a) oo fran Sfomnz v o oo o 1x4=4
State whether the following statements
are True or False :

() SaffeR ORI R™NNNT
ST |

Preference shareholders are
creditors of the company.

(ii) T[T @INT e |

Shareholder is an owner of the

company.
\
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(2)

(i) 2T IR T oA
Preliminary expenses are of capital
nature.

(iv) SN ¢F SRS 74 |
Goodwill is an intangible asset.

(b) R IR o[ 1x4=4

Fill in the blanks :

() i@ Rm Eme e 29 93
|

i

Loss on issue of debenture is an

(i) T ART TSR AT FHS (TN 1
ASTITE LCOIRIEN

. Dividend declared between two °
-annual general meetings of a
company is known as

(i) QMBS A e Ry
FRI MR
Bonus shares can be issued to the

members only.

(iv) BorR W TN @339 Rororw
NS oS |

Accounting Standard relates
to accounting for amalgamation.
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(3)

2. 5y o o 4x4=16

Write short notes on :

(@) RTR TXoG
. Right share

(b) = ACHAISIIT ¥ 73 Rt
Forfeiture and_ reissue of shares

(c) GRT=AIRT SRR RN
Internal reconstruction of companies
(d) SR oM

Non-performing assets

3. (@) TiFe fAftre 10000 .= AfG® 100
it Rfe R wie A worEs Imw
oI 20 531, ARG 30 591 wie AP 25
TRE YO OO | WA F WREAT T 4
T o’e R que AWM 200 HHRR 94U
o o fAftce | RS v @rnfia Rea
w2 | e ARk 8

Faruk Ltd. issued 10000 shares of
¥ 100 each payable ¥ 20 per share on
application, ¥ 30 per share on allotment
and balance in two calls of ¥ 25 per
share. The application and allotment
money were duly received. On first call,
all members. pays dues except one
member holding 200 shares. Final call
was not made. Give Journal Entries.
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4.
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(4)

11/ Or

(b) wm?m w0 o & {W TN o

(@)

)

(a)

(b)

TR CFAS 4T TR T T4 2+6=8

What do you mean by buyback of
shares? State the conditions to be
fulfilled for buyback of shares.

woTe AT A T ; 4+4=8
Explain the following : ' ’
(i) TGS AT
Interim dividend
(ii) *RoFRI TR
Managerial remuneration
e/ Or
a5 FHINT TYE “qT T 2T I | 8

Give a specimen of Balance Sheet of a
company.

GORE EIRFE TGS Toord SRR R I
Ll 8

Explain the procedure for valuation of
shares with examples.

oedr/ Or
WA W T N R TR
SICALA 4 |

Define goodwill. Discuss the methods
for valuation of Goodwill.

( Continued )

6. (a) oS TAPTR M F0:

(b)
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(S)

4+4=8
Explain the following :
() vfeeaT 4Pl eI

Amalgamation in the nature of
merger

(i) TR AFRT G
Amalgamation in the nature of
purchase

G/ Or

g faficbes smmgs PEreR AR 2,50,000
51 25000 wrers Refee e =0 10

B 1 @G @RI PRI IR AT
. e Trmy I ARIER @t R R

e s T W :

The paid-up capital of Zoo Ltd.
amounted to ¥ 2,50,000 consisting of
25000 equity shares of ¥ 10 each. Due
to losses incurred by the company, the

company decides to reconstruct with
the following changes :

(i) ISR (T 0 4@ ST R
YRITICH S FRA :

In lieu of their present holdings, the
shareholders are to receive :

(1) SRR 2/5 weR Refits W
WY o AT TP et AR
Fully paid equity shares equal
to 2/5th of their holding
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(6)

(2) Tiae wgw R® W 20%
TRRE 5% o omRige
SRR oG

5% preference shares fully paid

to the extent of 20% of the
above new equity shares

(3) 3000, 6% fa®w Haora =fSchr
10 531 19
3000, 6% second debentures of
¥ 10 each

(ii) 2500 ¥, 5% AYT G I AR

U 10 53, <Jf o SAMRpS

An issue of 2500, 5% first
debentures of ¥ 10 each was made
and fully subscribed in cash

(iii) FIRPTIR TS fal 40 P N W -

The assets were reduced as follows :

(1) 3™ 1,50,000 531 #&1 75,000 531

Goodwill from ¢ 1,50,000 to
¥ 75,000

(2) TFNS 50,000 521 =1 37,500 B0

Machinery from & 50,000 to
€ 37,500

( Continued )
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(7)

(3) %= & 75,000 5% “[T 62,500
B

Leasehold premises from
¢ 75,000 to ¥ 62,500 5
TS SivAT SFRaT A3 w2

fram

Show the Journal Entries to give
effect to the' above scheme of
reconstruction.

Explain the following :

(a) wﬁwwﬁamwmm

(b)

8. (a

24P/1253

Rit-3emriz
Provisions of the Companies Act relating
to holding company

ST Rl
Subsidiary company

RS =R vIRG1 AR o SRy ot |
4+4=8
State four merits and four demerits of
holding company.
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(8)

¢ &%/ Or

(b) &7 faan MCIR 5 (O for 2x4=8

Write short notes on the following
terms :

(i) TG R =R
" Rebate on bills discounted
(i) S o
Contingent liability
(isi) Rt
Statutory reserve

(iv) e et

Current Account

9. (a) =W 4R ARSI FRIFTR WF IR Recw

(b)

PO 30| 4+4=8

Explain the advantages and uses of
Cash Flow Statement.

g1/ Or

R @ fem m o @R
GG oL IR 1 N 2+6=8
Define the term ‘cash flow’ Explain the
importance of cash flow analysis.
\
* % K '
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